Dammam Community College
MATH 012  

Past Exam Questions

Sections 9.3 
1. What is the value of the determinant  
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2. The value of the determinant 
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3. If  
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, then the cofactor 
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 is equal to: 
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4. The value of the determinant 
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5. The matrix 
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is  a  singular matrix  if  k  is equal to:   
a.   
[image: image25.wmf]6


b.   
[image: image26.wmf]6

-

 

c.  
[image: image27.wmf]2

-


d.  
[image: image28.wmf]3

-


e.  
[image: image29.wmf]3

 

6.  If  
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7.  If  
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8. If  
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9. If  
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10.  The exact value of  
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